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Q1: Confirm whether it has to be on all LDO of since we make 3 LDO in parallel if it can be only 1 per 3 LDO.( TPS7A96)
- I have read the TPS7A96’s datasheet. You can also see below, it is the place where we need to add the pi filter, and which type ferrite-bead they recommend. In my opinion, we should add pi filter in all of the TPS7A96. But we want to confirm whether it has to be on all LDO of since we make 3 LDO in parallel if it can be only 1 per 3 LDO. 
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The ferrite bead was selected to have a very small dc resistance of less than 50 mQ, 1 A of current rating, and a relatively small footprint. I
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TPS7A96 LDO

« Leverage from EGX CEM (uses TPS7A94)

» 3LDO in parallel to achieve 6A output current. Use 4mohm ballast for current
balancing.

« 3 EN_UV pin tied together and connected to MAX7320 for LDO enable

» 3 NR/SS pin tied together and connected to MCP4728 for reference voltage. Use
3x10uF cap in parallel for noise reduction.

= Connect SNS directly to output (no remote sense). Feedback voltage from EVB will only
go to LTC2991 ADC for voltage monitoring.
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8.2 Typical Application
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Figure 827 Typical Application Circuit With Added Piilter




